
𝑦 = 𝑚𝑥 + 𝑐
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1 Find the equations of the three lines 𝑓, 𝑔 and ℎ shown on the graph below.

[3 marks]

𝑓 =

𝑔 =

ℎ =

Turn over for next question

Turn over ►
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2(a) Find the equation of the line 𝐴𝐵 where:

𝐴 = 5,10 𝐵 = (11,22)

Give your answer in the form 𝑦 = 𝑚𝑥 + 𝑐.

[2 marks]

Answer

2(b) Find the equation of the line 𝐶𝐷 where,

𝐶 = (−2,−7) 𝐷 = (−14,−11)

Give your answer in the form 𝑦 = 𝑚𝑥 + 𝑐.

[2 marks]

Answer

Turn over ►

4
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3(a) In each of the following cases, find the gradient of the straight line by rearranging the 

equation.

𝑦 − 3 = 4(𝑥 − 2)

[2 marks]

Answer

3(b) 3𝑦 − 2 = 5𝑥 + 2

[2 marks]

Answer

3(c) 2(3 − 5𝑥)

𝑦
= 3

[2 marks]

Answer

Turn over for next question

Turn over ►

6
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4 From the equations below, find two pairs of equations which have the same gradient. 

[2 marks]

and

and

Turn over ►

2

A 𝑦 = 2𝑥 + 3

B 𝑦 = 4 − 2𝑥

C −2𝑥 − 𝑦 = 4

D −2𝑥 + 𝑦 = 5

E 2𝑥𝑦 = 5

F
𝑥

𝑦
= 3
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5 From the equations below, find four pairs of equations which have the same gradient. 

[4 marks]

and

and

and

and

Turn over for next question

Turn over ►

4

A 𝑦 = 7𝑥 + 4

B 𝑥 + 1 2 − 𝑥2 = 4𝑦

C 2 3𝑥 + 4 − 𝑦 − 1 − 𝑥 = 0

D 2𝑦 = 3(2𝑥 − 4)

E
𝑦

𝑥
= 3

F 𝑦 − 2 𝑥 + 3 = −(6 + 𝑥)

G 6𝑦 − 3𝑥 + 2 = 0

H 𝑥 = 𝑦
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6 The graph below is a distance time graph for a car, over 10 seconds, during a race

6(a) Find the equation of the straight line graph. 

[2 marks]

6(b) What does the value of 𝑚 represent in terms of this car.  

Explain your answer.

[2 marks]

Turn over ►

4

Time, s

𝐵

400

1050

𝑦

𝑥

1100

1150

1200

Distance, 𝑚

1250

402 404 406 408 410
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7(a) Two lines EF and GH are parallel.

EF: 𝑦 = 5𝑥 − 2.

𝐺 = (5, 𝑎)

𝐻 = (2𝑎, 8)

Find the value of a. 

[3 marks]

Answer

7(b) Hence or otherwise, write down the equation of GH.

[2 marks]

Answer

END

5
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